
Exemples :

1. On a la décomposition en produit de facteurs pre-

miers :

54 = 2×33

On a la simpli�cation :√
54 =

√
2×33 =

√
32×2×3 =

√
32×

√
6 = 3

√
6

2.
√

6×
√
75 =

√
6×75 =

√
2×32×52 =

È(
3×5

)2×2

=
√

152×
√
2 = 15

√
2

3.
√

27 + 2
√
3 =

√
32×3 + 2

√
3 = 3

√
3 + 2

√
3 = 5

√
3

4.
√

2
(
5 +

√
2
)
= 5

√
2 +

(√
2
)2

= 2 + 5
√
2

5.
(
3 +

√
5
)2

= 32 + 2×3×
√
5 +

(√
5
)2

= 9 + 6
√
5 + 5 = 14 + 6

√
5 + 5

Exemples :

1. On a la décomposition en produit de facteurs pre-

miers :

54 = 2×33

On a la simpli�cation :√
54 =

√
2×33 =

√
32×2×3 =

√
32×

√
6 = 3

√
6

2.
√

6×
√
75 =

√
6×75 =

√
2×32×52 =

È(
3×5

)2×2

=
√

152×
√
2 = 15

√
2

3.
√

27 + 2
√
3 =

√
32×3 + 2

√
3 = 3

√
3 + 2

√
3 = 5

√
3

4.
√

2
(
5 +

√
2
)
= 5

√
2 +

(√
2
)2

= 2 + 5
√
2

5.
(
3 +

√
5
)2

= 32 + 2×3×
√
5 +

(√
5
)2

= 9 + 6
√
5 + 5 = 14 + 6

√
5 + 5

Exemples :

1. On a la décomposition en produit de facteurs pre-

miers :

54 = 2×33

On a la simpli�cation :√
54 =

√
2×33 =

√
32×2×3 =

√
32×

√
6 = 3

√
6

2.
√

6×
√
75 =

√
6×75 =

√
2×32×52 =

È(
3×5

)2×2

=
√

152×
√
2 = 15

√
2

3.
√

27 + 2
√
3 =

√
32×3 + 2

√
3 = 3

√
3 + 2

√
3 = 5

√
3

4.
√

2
(
5 +

√
2
)
= 5

√
2 +

(√
2
)2

= 2 + 5
√
2

5.
(
3 +

√
5
)2

= 32 + 2×3×
√
5 +

(√
5
)2

= 9 + 6
√
5 + 5 = 14 + 6

√
5 + 5

Exemples :

1. On a la décomposition en produit de facteurs pre-

miers :

54 = 2×33

On a la simpli�cation :√
54 =

√
2×33 =

√
32×2×3 =

√
32×

√
6 = 3

√
6

2.
√

6×
√

75 =
√
6×75 =

√
2×32×52 =

È(
3×5

)2×2

=
√

152×
√

2 = 15
√

2

3.
√

27 + 2
√
3 =

√
32×3 + 2

√
3 = 3

√
3 + 2

√
3 = 5

√
3

4.
√

2
(
5 +

√
2
)
= 5

√
2 +

(√
2
)2

= 2 + 5
√
2

5.
(
3 +

√
5
)2

= 32 + 2×3×
√
5 +

(√
5
)2

= 9 + 6
√
5 + 5 = 14 + 6

√
5 + 5

Exemples :

1. On a la décomposition en produit de facteurs pre-

miers :

54 = 2×33

On a la simpli�cation :√
54 =

√
2×33 =

√
32×2×3 =

√
32×

√
6 = 3

√
6

2.
√

6×
√

75 =
√
6×75 =

√
2×32×52 =

È(
3×5

)2×2

=
√

152×
√

2 = 15
√

2

3.
√

27 + 2
√
3 =

√
32×3 + 2

√
3 = 3

√
3 + 2

√
3 = 5

√
3

4.
√

2
(
5 +

√
2
)
= 5

√
2 +

(√
2
)2

= 2 + 5
√
2

5.
(
3 +

√
5
)2

= 32 + 2×3×
√
5 +

(√
5
)2

= 9 + 6
√
5 + 5 = 14 + 6

√
5 + 5

Exemples :

1. On a la décomposition en produit de facteurs pre-

miers :

54 = 2×33

On a la simpli�cation :√
54 =

√
2×33 =

√
32×2×3 =

√
32×

√
6 = 3

√
6

2.
√

6×
√

75 =
√
6×75 =

√
2×32×52 =

È(
3×5

)2×2

=
√

152×
√

2 = 15
√

2

3.
√

27 + 2
√
3 =

√
32×3 + 2

√
3 = 3

√
3 + 2

√
3 = 5

√
3

4.
√

2
(
5 +

√
2
)
= 5

√
2 +

(√
2
)2

= 2 + 5
√
2

5.
(
3 +

√
5
)2

= 32 + 2×3×
√
5 +

(√
5
)2

= 9 + 6
√
5 + 5 = 14 + 6

√
5 + 5

https://chingatome.fr

https://creativecommons.org/licenses/by-nc/4.0/deed.fr

